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(ot=EBIIHSEE U Mot AME2E el ol AE 23 (et &)

, . AU _ ] i
SNEE G HRAY S e | L om | HREZ & & o =
UFE SABIY MUY 442 20,0008 X 128 = 1,440
4852 HIIX RABI(90S 7435) 1,500,008 X 14 = 1,500
OBH+2ANTH UUHE DTAY +BAN 248, FLE H2l S
10,000,008 X 24 = 20,000
138,560 128,560 10,000) 201721 (SS2SHHMA)
OBEXZ o Z)IFR4 HIAEE 80,0002 X 66744 X 128 = 63,360
OBEZ o OIEY U SUSIHABE 70,0008 X 30044 X 128 = 25200
OBt+BINFE LUE AXAY BB23
09 M, 10 A 25,000,000 X 24 = 50,000
301
Yo 10,000 10,000 0
OBt+Z Al Bl2tel A2 1,000,008 X 108 = 10,000
(2)31+2HFH BILAY YUE 9,557,000| 9,557,000 0
307
DI2HO & 9,557,000| 9,557,000 0
9,557,000 9,557,000 0| 307-05 (BI2tI=I3S)




L BAE RIS | M5 2o Sl Bl ACAIE 8 (crol & E)
SN HE O HEAY HAS 01 4 o8 e | wms3 o=
Ost+2HE X2
09 A 6.577,000,0008 X 14! 6,577,000
(= 4,604,000)
(Al 1,973,000)
104 AbeS 2,980,000,0008 X 14! 2,980,000
(= 2,086,000)
(Al 894,000)
SO BTLAIY 222 1,000,000]  1,980,000) 480,000
307
0I210| & 1,000,000]  1,980,000) 480,000
1,900,000|  1,980,000]  80,000| 307705 (Rl
Ost+2HE coz X2
09 A 1,100,000,0008 X 14! 1,100,000
108 AP 800,000,0008 X 14! 800,000
StarelE 2o 4832083 4424173 407,910
SterelE 2o 3908475 3486,165| 422,310




3|_|
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H0
02

o
10

A
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A3 G2 MFA
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130,870

34,790

Or2t2 24 &+ MEH

IZANEES P

JIEFALSZ 2tel bl

St=Xeld JIAANEES E3EA

JIH . =& HIIA4

02
0r0
Oit

100,000& X 12

100,000& X 4& X 23

50,000& X 5&

5,000& X 11 X 128

5,000& X 11 X 128

20,000,000& X 1

1z

30,000& X 105 X 22

20,0002 X 10& X 62

20,000& X 108fA X 12

40,0002 X 10& X 4z

1,200

800

250

660

660

20,000

600

1,200

2,400

1,600




sl EBolSEs B saT A e saTeE 2o (cro: 1 el)
SALHE OIS HEAY HAS 01 4 o8 e | wms3 & s o =

OARD 24

BRI ) 42 1,000,002 X 10 = 1,000

Talg 43 10,0008 X 4CH 400

PC 22] 100,0008 X 12CH 1,200

= Al & 200,000 X 53 X 1CH 1,000

T g 50,0002 X 131 X 4CH 200

Szl ZAIHO 2EE 42 500,000 X 50 2,500

= o RI0f 1,500,0008 X 14 1,500

Samelm (MA0RAD 9 45) 1,500,008 X 55 7,500
om=H (29

xroi 400,000 X 242 X 13l 9,600

sa20) 30,0002 X 242 X 13l 720

ssma 20,0001 X 242 X 13l 480

D2, 2 3,502 X B00EIA 2,800

AT 9 50,0002 X 22 X 13l 100




Sl EEIlg =Y B o A E A2 chol: s HT 29 CLEE)
SNLEH B HPAY B maw | SN5 | wasz & ' I =
106,490 75,380 31,110 20102 (==&l
ORNF4E
SATRT ALS OHEEA(HYOHN) 10,000,0008! X 281 = 20,000
S ECR-BI] 6,000,002 X 23 = 12,000
S22 DA 760,0002 X 54 = 3800
ABIIN T BN S48 120,008 X 1094 = 1,200
o e SEA 600,0002 X 18l = 600
Soix A=A 500,0002 X 28l = 1,000
ABA JITHH DI A 270,00020 X 164 = 4320
MESA 2 A 30000020 X 244 X 128 = 7,200
=storx 2 Al 465,000 X 404 X 43 = 7,440
SR 24 1,000,008 X 13 = 1,000
IO 2 A 4,000,002 X 13 = 4000
WS HE Al 5,070,0002 X 13 = 5070
WS B =XDEb| 4,000,002 X 13 = 4000




(ot=EBIIHSEE U Mot AME2E Chel: St=X

SALE S MRAY B maw | SN5 | wasz & & 9 =
SadaE melEd 55 3,000,002 X 14 = 3000
SEIASHI| DEAA 7000008 X 20 = 1,400
SlarelE PN Asa 2000008 X 1281 = 2,400
Sh4X2I® BAWH RE0H P 1,7002 X 6AI2F X 304 X 1002 = 3,060
SladT AL BB 10} 20,0008 X 1,250 = 25000
20,400 20,700 £300| 201722 (XH&r. &bl
OXNESAI (15 55, 1)
N 3000008 X 3CH X 128 = 10,800
xher a2l 1,000,002 X 3CH X 28] = 6,000
EFOIOT DAL 3000009 X 3CH X 44 X 18 = 3,600
206
ET 616571 528671 87,900
60,200 52,200 8,000
1,000,002 X 3CH X 13]
500,0002 X 304 X 23]




BRI S5 B ST AMY2Y Crol: B4 HRIE 29 (Er9: ®8)
SN B E ALY B maw | SN5 | wasz & & o =
GETIWE 2E 2 500,002 X 3CH X 18 = 1500
SaFeAE 245 B3RP 2,000,002 X 48 = 8000
AX0{TI| DT PY 600,002 X 62 = 3600
JIHME P (MO 205) 3.000,000% X 18 = 3,000
PLCRIB =B 72J(CPUSI 353) 3.000,000% X 681 = 18,000
I YL HY HE PN 255) 2,000,002 X 18 = 2,000
SH4HRIE 2E olHE 7Y 2,000,000% X 5 = 10,000
EEEEE-SH 500,002 X 40 = 2,000
HEsE) 248 7Y 500,008 X 1€ = 500
Shaxelm BA™Y WE 7Y 250,002 X 4% X 58 = 5000
ey ¥ T2A RY 200,008 X 3% = 600
556,371| 476,471 79,900 206702 (=ZH1)
O =]
22X SYH 3.564% X 140kg X 3652 = 182,121
gaoU ZelH 11,0002 X 400kg = 4400




BT RI|sH5 Y 2o CHol BlA K2R 29 ColE )
HEC ] _
SR GO NS AY 0] A o4 o HD=2t & = I =z
ABA A 50,0008 X 30= X 35 = 4,500
SR (BRYEA20|s) 300,002 X 2.5 X 3652 273,750
SRR (IFEACH 2809 X 685kg X 3652 70,000
SHOIMS S2H (EM) 70,0008 X 20E X 123 16,800
SRHOME AN (YL, 8, A2) 20,0002 X 20E X 123 4,800
207
of T | 15,000 12,000 3,000
OABA J]7 R (BOERD| 2 1005) 150,0002 X 100Z 15,000
214
Al T DA 1,861,500| 1,752,000 109,500
1,861,500 1,752,000 109,500 214-05 (=42 XIHI)
O +224X SISt 170,0002 X 30 X 3652 1,861,500
215
ey 1230,144| 1,062,624 167,520
O FIANE2(MAR = DAA, JIEAY)
=e 9,8102 X 1,200kw X 122 141,264
ANERZ2 139.62 X 650,000kw X 122 1,088,880




H:staEBIlsEs ) B ST AMY2Y Crol: B4 HRIE 29 £r9): H R)
SN B E ALY B maw | SN5 | wasz & & o =
SiaHEIE AlEFY 2el 923608 938008 414,400
214
SEST DA 923608 938008 414,400
923608|  938,008|  Aat4,400( 21405 (&=
OstaHel &
SaXEIE AT BIAY 42
S4B T (250HP) 18,000,000 X 1Ck 18,000
Q4B I (100HP) 8,000,000 X 44 32,000
Q4 I (60HP) 8,000,002 X 2Lk 16,000
B2 2 (1HP) 300,008 X 10CH 3,000
SAXEIE AT JHAE RK L 2o
3ael 42 1,500,000 X 7CH 10,500
AAKNES BEE oYl 5,000,000 X 64 30,000
2tl0l0f 22l 5,000,000 X 54 25,000
SN 8 U S JIKH<el 8,000,0002 X 2C 16,000
SN L AHSEI| F0I00 B 3,500,008 X 10CH 35,000




sl EBolSEs B saT A e saTeE 2o (cro: 1 el)
SN HE O HEAY HAS 01 4 o8 e | wms3 & = o =
X AR 42 2,500,000 X 141 = 2,500
MEHsE e A 6,000,002 X 100 = 60,000
015 BIE(AZE, 22/ HOIZ)RA 4,000,008 X 4CH = 16,000
Hea OISEI(ANIE 2202 HOIZ)DA 3,000,008 X 201 = 6,000
2229 4z 2,000,000 X 4T = 8,000
4 Lsws D 2,000,002 X 501 = 10,000
sS4 Cagz D 20,000,000 X 1A = 20,000
S2X ZIHT 42 2,500,000 X 30 = 7,500
CaATpa AME SXEL 10,000,008 X 14 = 10,000
2ERATY @ ATy A 2 5,000,000 X 200 = 10,000
DEXSAN BHLH 22 5,000,002 X 200 = 10,000
SERENE A Y 5,000,008 X 14 = 5000
BHEazIl 2 15,000,008 X 1h = 15000
HEaEI HEHMNS DA 18,000,008 X 30 = 54000
2a 2aI] 22 20,000,000 X 200 = 40,000




PSS B SATAYSY 09 Bla TR 2o (crol &)
SALHE OIS HEAY HAS 01l kot e | wms3 4 =2 I =

AN s2| 22 20,000,0002 X 21 = 40,000

ZoIHAAE SXEL 8,000,002 X 24 = 16,000

SadelE HEE F4 HA 20,000,002 X 241 = 40,000

ot=Xcld &IIEH H HEEH R

LA=HELH RAL2> 5,000,000& X 28 = 10,000
SUHel HIIAI4 1,000,000& X 58 = 5,000
PLC Z28 |Xl2tel 3,000,000& X 62 18,000
PLC SXI2==(PLC 1 ~ 6) 2,000,000& X 122 24,000
& HEMOEH A= 1,500,000& X 123 18,000
== HSEH RNEs 10,000,000& X 33! 30,000
FH=HII| RNES 1,200,000& X 2671 31,200
Ald A=4H HH2+ 15,000,000& X 13 15,000
S Al CCTV KX+ 1,500,000& X 20CH 30,000
JIEH EIIAIE (2S£ 1,000,000& X 108 = 10,000

2SS HIIHOE RA2

2,000,000& X 102

20,000




el
i
3|_|
o
03
Ao
02

o
10

A
o

IIQ

dEE
Off &k 2K

=

i
i

rel

S MO WM ==

[e]
>

FSEoil&dl MOE =cl & A2F WX

J

St=Xcld AMEE KA =4 ZA

OAl£ EHIRXIHI

™S BIIE&

™S SHIIJ| RAEL(HA, 82 2H

on

)

ot==Hcl & ZLIHEE TS ZJI1&84d

>

tSSIAIAE HIIEH 2 |

HT

A
e

Odt=HMel& AE2 |22 (E2

20,000,000& X 14!

5,000,000& X 14!

15,000,000& X 24!

945,000& X 242/

2,500,000& X 122

1,000,000& X 42

2,100,000& X 122

10401 4F) 2,953& X 6,782m

20,000

5,000

30,000

22,680

30,000

4,000

25,200

20,028

0

2,726,513

2,598,206

2,338,282

2,244,887

2,338,282

2,244,887

1,746,068

1,671,721

1,586,322

1,523,467




sl EBolSEs HE: SN S (514 ESH3) crol: pl2i2 g (cro: 1 el)
SALHE OIS HEAY HAS 01 4 o8 e | wms3 & s o =
(51 m2le]
62 4,504,9002 X 2% X 122 = 108508
72 3,452,502 X 5% X 122 = 207,50
82 2,722,8002 X 2% X 128 = 65348
eI 4,471,9002 X 12 X 122 = 53663
(@2, sace]
52 7,846,202 X 12 X 122 = 04156
62 4,440,808 X 49 X 128 = 213,159
72 3,125,402 X 3% X 128 = 112515
82 2,722,8002 X 12 X 128 = 32674
92 2,006,7002 X 2% X 122 = 48161
O40i3
Boag(5am2E) 434,759,008 X 1/12 X 50% X 281 = 36,230
moag(2el, SIATE) 500,665,008 X 1/12 X 50% X 281 = 41723
SES =PI EIED




sl EBolSEs HE: HE2 YA (5 E S5 crol: pl2i2 g (cro: 1 el)
SN HE O HEAY HAS 01 4 o8 e | wms3 & = o =
NEFECee 11,6028 X 232 X 40AIZH X 1281 = 128,087
NEEE Py 11,6022 X 3% X TAIZ X 3652 = 88,930
EIE=pe 3,8672 X 32 X BAIZH X 3652 = 33875
sanoag 93,2600 X 3% X 1202 = 33574
Omoag
pETe
TR 40,0002 X 15 X 122 = 7200
Soj= 20,0008 X 112 X 122 = 2,640
ST 30,0002 X 7% X 122 = 2520
ST 70,0002 X 5% X 122 = 4200
AR O] At 110,002 X 22 X 128 = 2,640
EEECRE)
251 0] 4t 130,0002 X 3% X 122 = 4680
204 04 ~ 251 O]k 110,0002 X 5% X 122 = 6600
15 0l ~ 204 Olgk 80,0002 X 22 X 122 = 1920




sl EBolSEs HE: SN S (514 ESH3) crol: pl2i2 g (Er9): & 2)
SN HE O HEAY HAS 01 4 o8 e | wms3 & = o =
10 Ol ~ 154 Ol@k 60,0002 X 3% X 128 = 2,160
51 014 ~ 104 O/gH 50,0002 X 62 X 128 = 3,600
CEECESY
s = 50,0002 X 1788 X 128 = 10,200
[Hezoay]
53 02 4,504,9002 X 4.1/100 X 2 X 122 = 4488
62 02 3,525,2008 X 4.1/100 X 3% X 128 = 5204
SRR 4,471,908 X 4.1/100 X 12 X 128 = 2201
ECES)
AT EAT 80,0002 X 112 X 122 = 23760
st x2l 80,0002 X 112 X 122 = 23760
OBAUBZAY] 140,002 X 222 X 122 = 36,960
OB =S|
Siariole 434,759,00081 X 1/12 X 60% X 23] = 43476
22|, siacd 500,665,00081 X 1/12 X 60% X 23 = 50,067




0

JIBEE A

fou

M
40

e
[0

A3 G2 MFA

2|~

=2
|

t=XclE

ol

rw

te|, ot+==8

OX < IH&HI

434,759,000& X 1/12 X 86% X 1/30 X 12&

500,665,000& X 1/12 X 86% X 1/30 X 12&

935,424,000 X 2.5%

12,464

14,353

23,386

101-03 (SR (RIHA)2Z2XE

oxgaz 2eld,

04
ru
4
on

=
Y
o
1
on

S
It
1
on

=
40
=

1T
02
S
I

e
_>i
i
S
i
on

HAt2tel R (

1

)

b

for
0

AP &)

'

2,640,570& X 2% X 128

2,640,570 X 50% X 2¥ X 28

16,4143 X 28 X 150% X 20A12+ X 123

40,000& X 1& X 128

20,000& X 1& X 128

131,3128 X 28 X 15¢

63,374

5,282

11,819

40

20

3,940




sl EBolSEs HE: SN S (514 ESH3) crol: pl2i2 g (Er9): & 2)
SN HE O HEAY HAS 01 4 o8 e | wms3 & = o =
olgag 20,0002 X 2% X 128 = 480
ol Mag 30,0002 X 2% X 128 = 720
SEESNY 2.640,5702 X 2% X 75% X 281 = 7022
SN 140,002 X 2% X 122 = 3,360
e 100,002 X 2% X 122 = 2,400
HRWL (22 oaz ) 63,374,002 X 2.5% = 1,585
55 804 52 85 5.045] 10104 OIRHH2EXSE4)
OMEIZ ZHX 22l U AlES SR
=3 80,2402 X 2% X 22590 = 36108
rEay 80,2402 X 2% X 402 = 6420
TP 80,2409 X 22 X 92 = 1445
sanoag 80,2400 X 150% X 2% X 182 = 4815
5 Az 2] 1,000,002 X 22 = 2,000
xro 300,002 X 28 = 600
or& 3t 100,0008 X 288 = 200




BRI S B HESHAY (51T SE ) £ro): ozt 2| CLE-ED)
SALE S MRAY B maw | SN5 | wasz & & 9 =
2rAH| 3,000 X 28 X 2002 = 1,200
TEERE 1000008 X 29§ X 23] = 400
OMslRE LD
SHEEET=E! 48,788,002 X 4.5 = 2,196
duwEsea 48,788,002 X 3.545% = 1,730
SR 1,730,000 X 12.95% = 205
newEsea 48,788,0008 X 1.95% = 952
SEERE S 48,788,0008 X 1.05% = 513
204
HoasAy| 48480 48,300 180
48480 48300 1g0| 204-02 (A== Z8)
OxZE |
CESEE)
63, oA 85,0002 X 3% X 128 = 6,660
73 80,0002 X 5% X 122 = 10,800
83 ~ 92 75,0002 X 3% X 128 = 6,300




R PN (Bt E=238) ool ol 29y ColE )
Gt mE crol s . JEp . . i
SNLHH G NS AL AkoH o o HDE2 = J =
2o, stace]
52 250,0009! X 12 X 122 3,000
62 185,0002! X 4% X 122 8,880
72 180,0002! X 4% X 122 8,640
82 ~ 92 175,00020 X 224 X 129 4,200
303
mAR 95,103 91,790 3,313
95,103 91,790 3,313| 303-02 (&2at0i=)
DA
slaxele 434,759,00020 X 1/12 X 1.1 39,853
22|, slace 500,665,00020 X 1/12 X 1.1 45,895
He M| 935,424,00020 X 1% 9,355
304
ooscias 448 631 433,076 15,555
366,686 352,837 13,849 304-01 (=7E3)
e 1,756,665,0002! X O% 158,100
ORFE2 1,756,665,0002! X 7.277% 127,833
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S E B2 S s S E S8 £rol: Dl =5y CRE)
SALHE B9 AR A po | LEa | vmzy & &8 o =
231,171| 201,579 29,592
121,526 92,512 29,014| 201-01 (Ar2eltl)
OYsILgY|
SBEAL A BRI 2000002 X 128 = 2,400
AT 72
A3 30,0008 X 5%A X 128 = 1,800
A 20,0008 X 1024 X 128 = 2,400
NEEET 15,0002 X 15% X 128 = 2,700
X UK PS2(SAX S) 15,0002 X 3% X 128 = 540
SHEEN 7Y 30,0008 X 25 X 122 = 720
EINEE=2-11] 10,0002 X 212 X 128 = 2,520
Al D2IRE 20,0008 X 10% X 681 = 1,200
2N R0l 30,0008 X 70% X 18l = 2,100
Gl4tA ol 50,0008 X 705 X 38 = 10,500
] 100,000 X 128 = 1,200




0

JIBEE A

Jm
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fou

ol

o
10

T
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A3 G2 MFA

>

2|~

2
Iy |

Y =

OXYBI|Y DAVSEIMN 242

Oot=% Ml&talH 208 ®Xl2aldl

METBAIAE 2T 22|

H ZBo2ZAIS S

30,000& X 10& X 32

1,000,000& X 2CH

100,000& X 3CH

200,000& X 53 X 2CH

200,000& X 308 X 52

100,000& X 11CH X 20/100

50,000& X 12&

110,000& X 1504 X 138

600,000& X 43

3,900,000& X 14!
19,000,000& X 14!
1,400,000& X 14!
16,500,000& X 14!

9,000& X 74l X 21&8 X 128

900

2,000

300

2,000

3,000

220

600

1,650

2,400

3,900

19,000

1,400

16,500

15,876
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